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	5381F/05 – Section A

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)(i)
	
	8
	2
	B1 for 8 or eight

	
	   (ii)
	
	5
	
	B1 for 5 or five



	
	(b)
	
	

	1
	B1 cao

	
	(c)
	
	
	1
	B1                                     accept



	2
	(a)
	
	Volvo
	1
	B1 cao

	
	(b)
	
	Mazda
	1
	B1 cao



	3
	(a)
	
	
	1
	B1 for cross at ½ (allow (2 mm tolerance)

	
	(b)
	
	
	1
	B1 for cross between 3/4 and 1

	
	(c)
	
	
	1
	B1 for cross at 0 (allow (2 mm tolerance)

	4
	
	
	Overlay of pie chart – angles of 60º, 120º, 108º
	3
	B3 for fully correct labelled pie chart within guidelines

(B2 for pie chart with correct angles within guidelines and no labels or for one angle drawn correctly within guidelines and labelled)

(B1 for 1 angle drawn in guidelines and not labelled or for 1 correct angle in table or sight of 360(60 or 72(12 or 6)

	5
	
	(0 ( 5) + (1 ( 9) + (2 ( 7) + (3 ( 4) + (4 ( 3) + (5 ( 2)

0 + 9 +14 +12 + 12 + 10

57 ÷ 30
	1.9
	3
	M1 for 0 ( 5, 1 ( 9, etc (min 3 attempts shown) may be implied by 0, 9 etc

M1 (dep) for attempt to add and divide by 30

A1 cao

(B2 sc for 2.06 – 2.1)

	5381F/05 – Section B

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)
	
	25
	1
	B1 cao

	
	(b)
	
	20
	1
	B1 cao

	
	(c)
	25-10
	15
	2
	M1 for sight of 10 and 25 together

A1 cao



	2
	(i)
	
	C
	2
	B1 for each correct answer

	
	(ii)
	
	A
	
	

	3
	
	
[image: image1.wmf]8

2


	
[image: image2.wmf]8

2


	2
	M1 for 
[image: image3.wmf]8

x

 (x < 8)  or  
[image: image4.wmf]x

2

 (x > 2)

A1 for 
[image: image5.wmf]8

2

 o.e.

	4
	
	
	  7  12   4  23
10  16   8  34
  3    8   2  13
20  36  14 70
	3
	B3 for fully correct table


(B2 for 4 or 5 correct entries,

B1 for 2 or 3 correct entries)

	5
	(a)
	
	As the price increases the number of cameras sold decreases.
	1
	B1 for decrease in number sold with increase in price oe

(accept negative correlation)


	
	(b)
	
	Line of best fit
	1
	B1 for line within given limits passing between (70, 40) & (70, 55) and between (80, 15) & (80, 30)



	6
	
	
	Overlapping intervals
No time period
No 6+ response box
	2
	B2 for two correct

(B1 for one correct)


	5381H/06 – Section A

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)
	1 – (0.3 + 0.2 + 0.1)
	0.4
	2
	M1 for 1 – “(0.3 + 0.2 + 0.1)”

A1 for 0.4 oe

(watch out for answers given only in table)



	
	(b)
	0.2 x 50
	10
	2
	M1 for 0.2 x 50

A1 for cao

SC B1 for 10/50

	2
	(a)
	
	Overlapping intervals

Time frame

No 6+ (or none)
	2
	B2 for 2 correct731607245

(B1 for 1 correct)



	
	(b)
	
	Not representative of all ages

Students use computers more
	1
	B1 for one acceptable reason

	3
	
	(6 x 5) + (11 x 15) + (8 x 25) + (5 x 35) = 570

“570” ÷ “(6+11+8+5)”
	19
	4
	M1 for use of fx with x consistent within intervals (including end points) accept one error

M1 (dep) for use of midpoints
M1 (dep on 1st M1) for use of Σ fx/Σ f

A1 cao


	4
	
	
	2 comparisons
	2
	B1 for a comparison of a specific value, e.g. John’s median is greater than Peter’s median

B1 for a comparison of spread, e.g. John’s range is wider than Peter’s range

(watch out for two comparisons given together)




	5381H/06 – Section A

	Question
	Working
	Answer
	Mark
	Notes

	5
	
	frequency densities
0.4, 0.6, 1.0, 0.6, 0.2
	bars 3cm, 1cm high respectively
	2
	M1 for consistent correct use of fd or 1cm2=2 (may be implied by one correct bar)

A1 for 2 correct bars




	5381H/06 – Section B

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)
	
	(67, 50), (70, 50), (75, 40), (80, 25)
	2
	B2 for 4 points plotted correctly (allow (2mm tolerance)

(B1 for 2 or 3 points plotted correctly)



	
	(b)
	
	As the price increases the number of cameras sold decreases
	1
	B1 for decrease in number sold with price.
(accept negative correlation)


	
	(c)
	
	line of best fit
	1
	B1 for line within given limits passing between (70, 40) & (70, 55) and between (80, 15) & (80, 30)



	
	(d)
	
	35 – 39
	1
	B1 for 35 – 39 or ft their line of best fit from 74 (allow (2 mm tolerance)

	2
	(a)
	
	88
	1
	B1 for value in range 87 – 89

	
	(b)
	
	38
	1
	B1 for value in range 38 -39

	
	(c)
	57 – 20
	37
	2
	B2 for 32 – 40

(B1 for using graph at 25 and 75; may be indicated by marks at 25 and 75)

	3
	
	
	Reason
	1
	B1 for indication of not enough trials

	4
	(a)
	
	4/5

(7/10, 3/10)  (1/10, 9/10)
	2
	B2 cao

(B1 for 2 correct from 4/5, (7/10, 3/10), (1/10, 9/10))



	
	(b)
	(1/5 ( 7/10) + (4/5 ( 1/10)
	11/50
	3
	M1 for 1/5 ( “7/10” or “4/5” ( “1/10” oe selected

M1 for (1/5 ( 7/10) + (4/5 ( 1/10) oe

A1 for 11/50 oe





5382F

PAPER 07
	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answer
	D
	C
	B
	B
	C
	C
	A
	E
	D
	A

	Question
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	Answer
	E
	D
	C
	E
	D
	A
	A
	A
	D
	B

	Question
	21
	22
	23
	24
	25
	

	Answer
	E
	B
	A
	D
	D
	



5382H

PAPER 08
	Question
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	Answer
	B
	C
	C
	E
	E
	D
	D
	B
	D
	B

	Question
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20

	Answer
	A
	D
	E
	D
	B
	C
	A
	D
	E
	A

	Question
	21
	22
	23
	24
	25
	

	Answer
	B
	A
	E
	C
	D
	


	5383F/09

	Question
	Working
	Answer
	Mark
	Notes

	1
	(a)
	
	4
	1
	B1 accept 4.0(0)

	
	(b)
	
	16
	1
	B1

	2
	
	100 ( (23 + 32 + 10)

= 100 ( 65
	35
	2
	M1   for  100 ( (23 + 32 + 10)   o.e.

A1   cao watch for answer only in table

	3
	
	
	5x
	1
	B1    Accept  x5 or 5 ( x or x ( 5 or 5.x

	4
	
	6 ( 2
	12
	2
	M1   for 6 ( 2    or answer of 11 or 13 or 6 seen

A1    cao

	5
	
	
	explanation
	1
	B1   for explanation with Bidmas

e.g. Brackets needed (15 – 3) or Answer should be 9 Note:- brackets needed is insufficient

	6
	(a)
	
	draw radius
	1
	B1 (do not accept diameter) Ignore extras if correct

	
	(b)
	
	draw chord
	1
	B1 (accept diameter) Ignore extras if correct

	7
	
	180 ( 152
	28
	2
	M1  for 180 ( 152     or    x = [360 ( 2(152)] ÷ 2 

or 56 ÷ 2 seen

A1   cao

	8
	
	= 
[image: image6.wmf]63

.

336


	18.347….
	2
	B2   for 18.347(47939) or 
[image: image7.wmf]10

687

7


(B1   for  18.3… or 336.63 seen)

	9
	(a)
	
	(4, (1), 6, 11, (16)
	2
	B2  

(B1  for 1 correct entry)

	
	(b)
	
	Straight line
	2
	M1   for plotting at least 4 of ‘their points’ correctly

A1   for correct straight line for  (1 ≤ x ≤ 3

S.C.  B1 for line of gradient 5 or y-intercept 1 on y axis if M0 above

	10
	(a)
	
	6c  4
	1
	B1 oe

	
	(b)
	
	x(y + 3)
	1
	B1 for x(y + 3) oe or (x + 0)(y + 3) oe 

	5383F/09

	Question
	Working
	Answer
	Mark
	Notes

	11
	
	146 ( 13.20 = 132.80

132.80 ÷ 8.30
	16
	3
	M1   for  first step in a valid method  eg 146 ( 13.20 or sight of 132.8(0)

M1   for “132.80” ÷ 8.3 

A1    cao

Alternative 1 (repeated addition)

M1 for repeated addition of 8.30 (at least twice)

M1 for 13.20 + repeated addition of 8.30 (at least 15 times)

A1 cao

Alternative 2 (repeated subtraction)

M1 for repeated subtraction of 8.30  (at least twice)

M1 for repeated subtraction of 8.30 (at least 15 times with answers shown)

	12
	(i)

(ii)
	
	127

Alternate angles
	2
	B1   for 127

B1   for alternate angles (accept Z angles)

       or allied angles (co-interior angles) (= 180)

       or  corresponding angles (accept F angles) and (vertically) opposite angles

       or corresponding angles (accept F angles) and angles on a straight line (= 180º)

       or allied angles (co-interior angles) and angles on a straight line (= 180º)


	5383H/10

	Question
	Working
	Answer
	Mark
	Notes

	1
	
	= 
[image: image8.wmf]63

.

336


	18.347….
	2
	B2   for 18.347(47939) or 
[image: image9.wmf]10

687

7


(B1   for  18.3… or 336.63 seen)



	2
	(a)
	
	7e  6f
	2
	B2   (B1  for 7e or 6f seen)



	
	(b)
	
	6c  4
	1
	B1 (accept 6×c−4, c6−4 or equivalent expansion)



	
	(c)
	
	x(y + 3)
	1
	B1



	3
	(i)
	
	127
	2
	B1   for 127



	
	(ii)
	
	Alternate angles
	
	B1 for alternate angles (accept Z angles)

or co-interior angles 
or  angles on a straight line (= 180) and allied 

(co-interior) angles (= 180)

 or corresponding angles (accept F angles) and (vertically) opposite angles

or corresponding angles and angles on a straight line

	4
	
	8 ÷ 2 = 4

106÷ 1018 = 1012
	4  1012
	2
	B2   for 4  1012
(B1  for sight of 4  10n or  n  (  1012)

	5
	(a)
	23  10  12 


	2760


	2
	M1   for 23  10  12

A1    cao


	
	(b)
	2760  0.8
	2208
	2
	M1   for ‘2760’  0.8

A1   f.t.



	5383H/10

	Question
	Working
	Answer
	Mark
	Notes

	6
	(a)
	y2 + 3y + 2 y + 6


	y2 + 5y + 6


	2
	M1 for 3 terms out of      y2 ,  3y ,  2y,  6  

        or      y2 + 5y (+ c)       or       (dy2 +)5y + 6

A1  for   y2 + 5y + 6      



	
	(b)
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	2
	M1   for  (x ± 2)(x ± 5)

A1   cao



	7
	(i)
	
	90   and   reason
	2
	B1   for  90



	
	(ii)
	
	
	
	B1   for angle between tangent and radius (is 90



	8
	
	 
[image: image12.wmf]4

3

+

x

+ 
[image: image13.wmf]3

5

-

x

    

=    
[image: image14.wmf]12

)

5

(

4

)

3

(

3

-

+

+

x

x

 

=   
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[image: image17.wmf]12

11

7

-

x


	3
	M1  for adding with a common denominator of 12 and at least one equivalent fraction correct

M1  for  
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   or 
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A1  for  
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	9
	
	100x = 47.3737…

      x =   0.4737…

  99x = 46.9

      x = 46.9/99
	proof
	2
	M1   for  valid method 

eg   100x = 47.37373,  1x = 0.4737… and subtract

OR  1000x = 473.7373,  10x =   4.737… and subtract

A1   for valid argument leading to 
[image: image21.wmf]990
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